Term 121: Principles of Economics I (Microeconomics)
Quiz 1: Chapters 1 and 2: Answers
Directions: All the questions in the quiz are multiple choices. Please choose the best possible answer for each of the questions.

Refer to the information provided in Figure 2.5 below to answer the questions that follow.
[image: image1.jpg]LCD televisions

120

90

40 60 80

Plasma televisions




Figure 2.5

1) Refer to Figure 2.5. The economy is currently at Point B. The opportunity cost of moving from Point B to Point A is the      

A) 40 plasma TVs that must be forgone to produce 120 additional LCD TVs.

B) 30 LCD TVs that must be forgone to produce 40 additional plasma TVs.

C) 20 plasma TVs that must be forgone to produce 30 additional LCD TVs.

D) 120 LCD TVs that must be forgone to produce 20 additional plasma TVs.

2) Normative economics 
A) is the focus of most modern economic reasoning. 
B) answers the question "What is?" 
C) predicts the consequences of alternative actions. 
D) answers the question "What should be?" 
Refer to the information provided in Table 2.1 below to answer the following questions.
                                                    
Table 2.1
	
	Krystal
	Mark

	Writing Poems
	8
	12

	Writing TV commercials
	2
	4


3) Refer to Table 2.1. For Krystal, the opportunity cost of writing one TV commercial is      

A) 1/4 of a poem.      B) 2 poems.      C) 4 poems.      D) 6 poems.
4) An efficient market is a market      

A) in which profits are always very high and persistent.

B) in which everyone always gets what they want.

C) in which opportunity costs are zero.

D) in which profit opportunities are eliminated almost instantaneously.

5) Studying how the management of Hewlett Packard decides how many computers to produce and the price to charge for its computers would be considered      

A) empirical economics.      B) microeconomics.

C) descriptive economics.      D) macroeconomics.

Answer Key

1. C  2. D
3. C  4. D
5. B
